| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g - ~— Entries 25442 1l - - - - ~— Entries 25442
E ' ' Mean 1.695 E ' ' ' ' ' ' Mean 0.1573
- N : Std Dev 1.368 r Std Dev 0.5251
lO_l E- i *+ = [ missing_inner_layers 10_1 E missing_outer_layers
F : [Entries 45446 F Entries 45446
r Mean 1.695 r Mean 0.1573
_ Std Dev 1.368 _ Std Dev 0.5251
107 RSN 107%F RS
F missing_inner_layers F missing_outer_layers
L Entries 46159 - Entries 46159
3 | Meal 1.692 3 Mean 0.1579
10 E Std Cev 1.366 10 E Std Dev 0.5268
E : : : F . T T T
I misKaguiaser_layers o missing_outer_layers
—4 L Entries 46159 —4 L Entries 6159
10 E Mean 592 10 E Mean 0.1579
= Std Dev 1p66 = Std Dev 0.5268
-SL.. .E ..... ' ..... ' - 4 rv;\ssmg;mner;laysrs -SL mllssmgiouterjayers
10 E . . . Entries 45446 10 E Entries 45446
E : : : Mean 1.695 F Mean 0.1573
I | | | : Std Dev 1.368 | I i Std Dev
0105(‘5,................ ! AP e ST nnes cooben b Lo
T
ox N -+ | | 1 | = | =gt i i
T T _T__T_
L . ——
0.95 b . " R
0 1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 10
= B
—
i DOM~V/ R 1—Global—mkE
mean hil —— BEM-V0881-R000000001—Globa—mKFi
= 20 Entries 25442
» Mean 14.06
> 19 Std Dev 3.861
/U\) R s i
= hits
= 18 Entries 45446
\ Mean 14.06
17 1 std Dev 3.861
0 : T
16 hits
102 = - . .| Entries 46159
15 o | Mean 14.14
Std Dev 3.918
T [T T
14 hits
Fntries 46159
13 10 lean 14.14
td Dev 3.918
12 dJ EXEESKEIEXEREE
hits
Entries 45446
1] 1 Mean 14.06
13 Std Dev 3.86
o J.w I o JUL_ N N
ST Bk
| SeacTAN0A(TTTSTARERRTINTR AN e an- F 'H.‘“
N ,|l""'l||:[|IIITHH:THHHT[”TI F : 1
: s . . . 1L _Ll ILAM l 1 l
- ! . . . | Tt IYYYTHEIT'I!TII
0.95 - 3
232 -1 0 1 2 3 5 10 15 20 25 30 35 40
track n track hits
[ N of simulated tracks vs pT | [Nofreco track vs pT |
num_simul_pT num_reco_pT
T T Entries 143227 - T T Entries 53528
lo—l e pdeeeeaaaaan [ Mean 2.096 N : : Mean 1.056
. Std Dev 5.929 1 . Std Dev 1.564
: | O e T i
num_simul_pT E num_reco_pT
ol ] Entries 143227 r : : Entries 53534
107°E : : Mean 2.096 " : : Mean 1.056
E : : Std Dev. 5.929 1079 [ [ORRRRE Std Dev. 1.564
C : : : I E : : : |
3 B N N num_simul_pT o N N num_reco_pT
10 i EERERERE tries 143227 3 B . 4 Entries 54278
E . . Me: 2.096 10 i h TR Mean 1.054
C Std Cev 5.929 E Std Dev 1.555
- : N : : : |
-4 ... Veemeaeananan e nup_simul_pT B . . num_reco_pT
10 E : : Entries 143227 10_4 B fremmemeeees e ntries 54278
F . . Mean 2.096 E . pan 1.054
| Std Dev 5.929 o StdDev 1.555
E num_simul_pT 1075 Bl ------------ — ------- num_reco_pT,
E Entries 143227 E Entries 53534
- Mean 2.096 - . . Mean 1.056
B Std Dev. 5.92¢ B H | Std Dev. 1.564
9105@:_ L1 4 M P - 910‘_-’@_ 'l ' 4 R 1 n .u
= = . . |
£ (I € E AN
l‘lllluuullllll“lll _____ P |L1J.'ll|| 5 B U,
:I'TTTTTTTTTTT'[]'TT]'”||||” L q.-..-..-TITI:I T"“" i i
0.95— : . : S s 0.95— : : : > s
10 1 10 10 10 10 1 10 10 10
TP p. track p_



	Contents
	Page 1


